Friday, February 02, 2018 A

EE382 Applied Electromagnetics Quiz #1 (Spring 2018)
Name /(e—/(/ /4

Instructions: Open book/notes. Show all work for credit.

- jkr
The phasor vector electric field £ =4, j15siné %—— (V/m), where k = w/c = 2n/A, exists in free space.
r

First, find the time-domain (T-D) electric field if the frequency is 3.1831 MHz with all constants
evaluated (e.g., kK & »). Next, calculate the time-domain displacement current density and evaluate at
the spherical point 4(1.9 m, 27/5, 37/5) at time f = 2 ms.
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T-D displacement current density @ 4 w/ t =2 ms = 'aﬁ %5/5'5 X /0- s %7'
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T-D electric field = acﬂ

T-D displacement current density = (7 (") 2. { l 3?8 X /6
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_ — Jkr
The phasor vector electric field E =a, j25sin@ z
nr

(V/m), where k = w/c = 2n/A, exists in free space.

First, find the time-domain (T-D) electric field if the frequency is 6.3662 MHz with all constants
evaluated (e.g., £ & ®). Next, calculate the time-domain displacement current density and evaluate at
the spherical point B(2.3 m, 37/5, 2n/5) at time £ = 3 ms.
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